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TG ¢ (980/1064, 1030/1064, 980/1550, 1550/1064,1480/1550nm)
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FtiR 5 E RsR(WDM) BRIERM AR K TR R E EI— Ry e, R AR EE B E R S R R IRC
RO E R (PM-WDM) BN R T RWIT &5 T ARNAZE.

RERLERR AN (FBT)RIF FR At B (B2 B L E IR (R AT RIBR S, A RETS IR T S RUIRIKIEE, RIRS R /oA RERL HER AN (FBT)
PR XXTIRIKEUR EI Z 2 E Za9%129. B Rl A AT R LIRS 1310/1550nm JEREHHERURIR IR D S FRsR(PM-
WDM).
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RN EHRMHAIOCF BUR R CR D E AR TAERIKAILAE 400nm~1625nm ASBEIAIERE.
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980/1064

1030/1064

980/1550

1550/1064

1480/1550

B (nm)

960~990
or 1020~1080

1064+/-2.5

1520~1580

1500~1600

1520~1580

[ESRAK (nm)

1020~1080
or 960~990

1030+/-10

960~990

1040~1064

1480+/-10
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SENTEENE(C]R) >13 >13 >13 >13 >13
BT {RIRIERIRFE (dB) <0.3
iEYEEL(dB) >20
[B]RHR#E(dB) >50
HENIRFERVEEME (dB/°C) <0.005
BIJASZHIFEINER (CW, total)
(mW) <300
Common& Pass
. port PM 980 PM 980 PM 1550 PM 1550 PM1550
SR
) HI1060 or PM | HI1060 or SMEF-28e
Reflection Port PM 980 PM 980 930 PM 980 | or PM1550
THERE (°C) 0~ +65
tEEEE (°C) -40 ~ +85
FEER T (mm) @5.5%L35
For device with connector, IL is 0.3dB higher, RL is 5dB lower, ER is 2dB lower. The default connector key is aligned to slow axis
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C FPort
omerL For - Pass Port
Lightstar
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Ordering Information
PMFWDM | Port Type | Wavelength Pigtail Type _T_;t;eer Length Connector
152 980T/1064R 250=250um bare fiber 5=Panda | 0.8=0.8m NE=None
980R/1064T 900=900um loose tube fiber 1=1m FA=FC/APC
1550T/980R 3000=3mm loose tube FC=FC/UPC
1550T/1064R SA=SC/APC
1064T/1030R SC=SC/UPC
1550T/1480R XX=0Other
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